E

w

| bt

= o

Ll

| FOR MAX. FRAME WIDTH (F.W.)
SEE WINDOW ALLOWABLE SIZE TABLE

STATE APPROVED CERTIFICATION,/QA ENTITY & SHALL BE LABELED IN ACCORDANCE WITH THWE STATE CODE & CHAPTER 98-72
DEPARTMENT OF COMMUNITY AFFAIRS-FLORIDA SUILDING COMMISSION SPECIFICATIONS. BY LABELING THE WINDOW, THE
MANUFACTURER CONFIRMS THAT THE PRODUCT IS ASSEMBLED IN ACCORDANCE WITH THEIR RESPECTVE QA & TESTING REPORTS
THESE DRAWINGS SHOW ALL APPLICABLE ELEVATION, COMBINATION, INSTALLATION & COMPARATIVE ANALYSIS ( A5
DETERMINED THROUGH TESTING & ENGINEERING RATIONAL ANALYSIS. WINDOW ASSEMBLY SHALL BE IN ACCORDANCE WITH THESE
ORAWINGS, THE MANUFACTURER'S QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS

IF_ANY DEVIATION OCCURS BETWEEN THE INFORMATION ON THIS DRAWING & THE PRODUCT LABEL, THIS DRAWING SHALL
CONTROL.

6" MAX. EAB _‘ 16" MAX.
(rvp.) ‘ 2/ 0.C. 6" MAX.
TYP. FRAME SCREW OR s S S SS—— A — p—_— (TvP.)
INSTALLATION CLIP N I
WHERE SHOWN. SEE -
“FRAME ANCHOR -:. / / T-
REQUIREMENTS TABLE — | I WINDOW ALLOWABLE
ON THIS SHEET FOR =z | BN SIZE TABLE
ANCHOR REQUIREMENTS. Egg T |
o g o -|- — ——L MAXIMUM FRAME DIMENSIONS
g i | 1 16" SHORT SIDE | LONG SIDE
e | [ max. (IN.) (IN.)
N | 1| oc.
%2 - | (1) 48 48
=T3 ']* 'r" 42 54
g=3 36 64
“ i l 32 72
| INC
H % L N-10d X 3 1/2" FNISH 30 76
-‘J | I NAILS SPACED AS o1 o5
LU I REQUIRED TO SECURE
=== ——— & SEAL BRICK MOLD 18 126
BRICK MOLD IS OPTIONAL & TESTED _SIZES = 48" ¥ 48"
MAY BE REMOVED IF HEQU(IRED TERI ATION AND 32" X 68
BY OPENING CONDITIONS. (BRICK
MOLD SHALL NOT ACT AS A IN—SASH TRANSOM WINDOW
SUBSTITUTE FOR THE FRAME SCALE: 3/4"=1"-0"
ANCHORS SPECIFIED)
ALLOWABLE DESIGN PRESSURE
(SINGLE WINDOW)
+/-50 PSF
GENERAL NOTES
THESE WINDOW SYSTEMS HAVE BEEN TESTED, AMALYZED & APPROVED FOR DESIGN PRESSURES NOT TO EXCEED THOSE
SHOWN IN THE "ALLOWABLE DESIGN PRESSURE” TABLE.
BUCKING, OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER WIND LOADS TO THE
STRUCTURE.
ML HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & NAY NOT VARY UMLESS SPECIFICALLY FRAME ANCHOR REQUIREMENTS TABLE
cﬂﬁE(:f!m SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH & MEET THE REQUIREMENTS OF THE FLORIDA BUILDING INSTALLATION CLIP ANCHORS
THESE WINDOWS HAVE BEEN TESTED IN ACCORDANCE WITH AAMA/NWWDA 101/1.S. 2-97 “VOLUNTARY SPECIFICATIONS FOR OPENING TYPE JAMB/CLIP TO OPENING MINIMUM | MINIMUM
gl.agugoua \ﬂaN:L S(TZ\RCJ m ?"oa mNDm\'g o;npgﬁm Esoo;%' REEE?[%NCI.EE;EESE ms NO. 383-00172 & (SUBSTRATE) FASTENER TYPE EMBED |EDGE DIST.
- Al K TESTING LICABL " - -
TESTS COMPLETED INCLUDE AIR INFILTRATION PER ASTM E2B3, WATER RESISTANCE PER ASTM ES7 &/0R E331, UNIFORM 2X_ WOOD FRAME OR BUCK| NO. 8 X 1 1/2" SMS SCREWS 11/4 1/2
LOAD STRUCTURAL PER ASTM E330 & FORCED ENTRY PER ASTM F588. SHEAR SCREWS
THESE WINDOW SYSTEMS ARE NON-IMPACT RATED & WUST BE SHUTTERED WHERE RECUIRED 8Y COOE. " "
A':.ﬁmnmw SIZES SPECIFIED AS ALLOWABLE IN THE "WINDOW ALLOWABLE SIZE TABLE™ ARE AS CONTROLLED BY THE TESTED  |2X_ WOOD FRAME OR BUCK] - NO. 10 SMS SCREW | 14" | 3/4
TS, - " -
CUASS SHALL BE AS SPEGIFED IN THE GLAZNG DETAIL(S), GLASS TO BE USED ON ANY SPECIFIC WINDOW SHALL BE AS CMU/CONCRETE | ™ 3/16" concReTE ScRew | 1 1/4” | 2
REQUIRED BY ASTM E1300-00 TO MEET THE JOB SPECIFIED WINDOW DESIGN PRESSURES. (1) CONCRETE SCREWS SHALL BE ELCO OR ITW RAMSET/RED HEAD TAPCONS,
TO THE BEST OF OUR KMOWLEDGE, THE WINOOWS SHOWN HEREIN ARE CERTIFIED AND/CR QUALITY ASSURED BY A FLORIDA HILTI KWIK-CON || OR POWERS RAWL TAPPER (HARDENED STEEL OR S.5.).

BT
P,

(CHECKED BT

e

CATL:
23/1/04

DATE

BY

REVISION DESCRIPTION

NO.|

19TH STREET

900 s.
WEST DES MOINES,

WINDSOR WINDOWS & DOORS

MANUFACTURER

1A 50265

800-218-6186

LEGEND DOUBLE HUNG IN-SASH TRANSOM WINDOW

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A.
BBGS N, MILITARY TRAL; SUITE C-204

CONSULTANTS

DRAMNG TITLE

PALM BEACH GARDENS, FL 33410
PHOME: 5E1-775-4902 FAX: 361-775-4203

ANCHOR NOTE: FRAME MAY BE EITHER DIRECT MOUNTED TO THE OPENING,

MOUNTED ONTO A CONTINUOUS WOOD SPACER, OR AMCHORED TO A MIN. 2x4

NO. 3 SOUTHERN PINE WOOD BUCK. WHEN ANCHORED TO A 2x4 BUCK, NO.
10 SHEAR SCREWS OR INSTALLATION CUPS SHALL BE USED. WHEN DIRECT
MOUNTED OR MOUNTED WITH SPACER, 3/16" CONCRETE SCREWS SHALL BE
USED. SEE "ANCHOR REQUIREMENTS TABLE™ FOR EMBED REQUIREMENTS,

JAMB CORNER CONSTRUCTION

SIANDARD COANERS: HEAD & SILL JAMBS ARE BUTTED 10
SIOE JAME & JOINED WITH (3) STAPLES PER CORNER. ALL
CORMERS SEALED WITH SILICONE SEALANT,

MULLION CORNERS: BUTTED & JOINED WITH (3) STAPLES &
(3) NO. 8 X 2 1/2° SCREWS PER CORNER. ALL CORNERS
SEALED WITH SILICONE SEALANT,

APR 15 2004

CERTIFICATION

¥
Z|
z]

—
S
=]
(4]

WARREN W. FER, P.E.
5| wanRen b B s TE

R

SHEET O

Q
b

~a




CONTINUOUS SEALANT BE
BRICK MOLD BY OTHERS

BRICK MOLD
NAIL PER

HIND

FRAME SCREW
/ PER ELEVATIONS
R MIN. 2X4 BUCK/FRAMING &

MIN. 2X4

BUCK /FRAMING &
BUCK ATTACHMENT
BY OTHERS

MIN. 1 1/2" X 6 1/2"

ELEVATIONS BUCK ATTACHMENT BY QTHERS SEALANT BY X 18 GA. GALVANIZED
: : . OTHERS T METAL INSTALLATION
SEALANT BY S A1 1/4" MAX. ; 7 S i 33k
OTHERS [\ : [y 2HIMAT BRICK MOLD & NAILS : YIELD STRESS)
A EACH ANCHOR ARE OPTIONAL & SHALL \ P==——=
BRICK MOLD &~} * == NOT REPLACE FRAME E “‘*éa‘&(
MsaE, PR - woors, (ve) b !
SHALL NOT > » n 1/4" MAX. o O i \} 1/4" Max. ]
REPLACE FRAME o % \_woon SHIM AT —| FRAME WIDTH (F.W.) — A =5 — | - SPACE
AHCHORS: (D) / R HEAD JAMB EACH ANCHOR NO. 8 X 5/8—F ~ | A6 ol I .
SILICONE SEALANT P i | ~W0QD SIDE ESCREWS b 3 e ;‘gﬁgﬂ "(ETPE{E
— JAMB 2 PER CUIP) 7
BETWEEN SURFACES ; SEE GLAZING z MIN. 2X8 —_| 7 - CLP); 1 EACH SIDE
( q DETAIL ON v BUCK /FRAMING S OF BUCK.
/ THIS SHEET = & BUCK : FRAME SCREW
N 5 ATTACHMENT PER ELEVATIONS
EXTERIOR T~ o BY OTHERS | T
w BRICK MOLD —| e
2 NAL PER : K [ SEE GLAZING PTIONAL CLIP MOUNT
: FRAME SCREW ELEVATIONS . DETAL ON HEAD SECTION SHOWN, SIDES AND SILL SIMILAR
ST PER ELEVATIONS CONTINUOUS k T / THIS SHEET
SILICONE SEALANT—_ v gl
BETWEEN SURFACES | ) e B SEALANT LA ] —
E 7 ’ l—] . I [wooa SILL BEHIND SN A s
¥ s BRICK MOLD AL | S
el 7 BY OTHERS — |- L ; \-smcons SEALANT
E:lifg ::?%LD & e 3 BETWEEN SURFACES
OPTIONAL & s W] S Bk “NCBRICK MOLD & 3/16"
| . NTIN -
SHALL NOT SHIM SECTION B iﬂgaﬁENgTﬂmN'&" gg\n 0";0”3 3/16" CONCR. SCREW
REPLACE FRAME N PER ELEVATIONS &
NCHORS. (TYP, SCALE: 1/2 FULL \.2J REPLACE FRAME SILICONE £
A ) ANCHORS, (TYP SEALANT BY SEALANT FRAME  ANCHOR
LN, 2xe  LTPE) o REQUIREMENTS TABLE”
o 4t BUCK /FRAMING & ON SHEET 1.
CONTINUOQUS
SEALANT BEHIND BUCK ATTACHMENT
BRICK MOLD BY SECTION &~  BY OTHERS oy 2 ’
OTHERS SCALE: 1/2 FuLL \2./ BRICK MOLD & NAILS L = > Aty
A e e SHALL Nis 2 z L ——CONTINUOUS WOOD
N FRAMI o =
ANCHOE!SLAC‘IE{P SI!ZEE : = MEMBER LESS IN SIZE
- {TYB) X T z THAN A 2X_ BUCK TO
SECTIONS FOR DETAIL. ] I z I N 3/
3/4" 1.G. GLASS AS REQUIRED it —iF DEEP. NOT REQUIRED
BY ASTM E1300-00 TO MEET JOB bl Sl { WHEN 1/4" OR LESS
REQUIRED WINDOW PRESSURES S : : SHIM SPACE EXISTS

NOVAGARD NOVAFLEX
M150 SILICONE

CELLULAR
PVC SASH

EXTERIOR

TYPICA IN

CELLULAR PVC INTERIOR
GLAZING BEAD

3/8° MIN, BITE

10

Tl
K OR

A

IRECT _MOUNT
NCR Wi

Al
SPACER OR SHIM

(USE SHIMS AT EACH
ANCHOR ONLY).

HEAD SECTION SHOWN, SIDES AND SILL SIMILAR

CRAmN @Y (CHECKED BY
wrs L L ES
PLOT: DATE.
1=2 03/29/04
w
&
B
g
g
&
2
&
Qo
z
wv )
[+ w
§ S
1o
= i
Q dE=Zo
zZ| @7y
| 8z4s
3| 275
v Eg—imo
[P =]
=k 4=
= B
= v
5L =
g o
7
z |¢
=
(, =2
2
2
g B
Z z 7
g| & 3k
2 u.{‘-‘ﬂu
| ztuw"s
a| 5.8
z-a"q
2| we g4
() = =8,
Qo = gg
4 > g3
2z2
238
&EUS’ET
TN Tad
S ez”
: |z2= =“'§~
g &
w
a
zé' =4
g = g
= ¥
{:;u-' N
el LAY wE
= \\\ -
o £ u
de W\ |z
- 4
2
=
UHAWING # V.
1275
SHEET MO
2 o 2




